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Wﬁéﬂ:

freaferRaa AT i aga @rae1 | Uiy 3R ITehT UTer Hifeg :

1. 39 Y97-97 4 38 I99 81 @t 37 f3arf &)

2. Y¥9-97 gid @Sl § faifsd 8 - @ve @, @, T, 9997 g/

QUE & 4 Y97 G&A1 1 18 % Sglashedld a91 I97 §&41 19 T 20 39HIT Tq

d% TR 1 31 & J99 3

WS @ I J9 &A1 21 T 25 % 30 G-3RI (VSA) THR & 2 37H & I3 &

WUE T § Jv G&IAT 26 G 31 7% AY-3I70T (SA) IR & 3 371 & J97 81

TUe g 4 J97 §&41 32 § 35 a% qiH-3a09 (LA) THR & 5 37l & I3 3l

WUS T § ¥ GEIT 36 T 38 GId/ThI0T ShTS SATTRA 4 37l & I3 & 3aRF

forbeq 2 el & go7 4 faar w4 81

8. IH-97 § quy fasheq 78 faar wr 31 FEfy, @vs @ % 2 Y °, @S T % 2 JuHl
4, @ue g P 2 vl § d9T TUS € & 2 Hhl & 3 JvHI § SR fdheq T T8
fear T 21

9. TET AV &I, TS P S/ le HTETTH § al = 22/7 Wl

10. FTFciet HT I7AT Ffedfa 8|

w

NS A

@UE - & 20%1 = 20
9 HEAT 1 | 20 ok Sgfached i T § qT T U9 1 AR H1 R |
1. AP.:10v2,63/2,2/2,.... F 201 TE & 1
(a) —76+1042 (b) —6242  (c) —-66J2  (d) 862
2. 9f¢ secO—tanO =2 &, @ sech + tanO T AH 2 : 1
1 1
@ 3 (b) 2 © @ 2
Q

3.  PQ @ PR, BIsAT 3 cm @1 %5 O 9Tad, I W
il T 3 Y W@H 7 A T Tl @ 6

TS 4 cm B 1 By OQP &1 aftwm ¢ 1
(a) Scm (b) 12cm
(c) 9cm (d 8cm R

4. mF 98 uH ok o W 14x + my =20 T —3x+2y =16 TA=R T,
2 1
(a) —% (b) —% (© —% (d) —2%

Eﬂ'li!
=
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General Instructions :
Read the following instructions carefully and follow them :

1.
2.
3.

9.

10.

1.

This question paper contains 38 questions. All questions are compulsory.
Question paper is divided into FIVE sections — SECTION A, B, C, D and E.

In section A, question number 1 to 18 are multiple choice questions (MCQs)
and question number 19 and 20 are Assertion — Reason based questions of
1 mark each.

In section B, question number 21 to 25 are very short answer (VSA) type
questions of 2 marks each.

In section C, question number 26 to 31 are short answer (SA) type questions
carrying 3 marks each.

In section D, question number 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In section E, question number 36 to 38 are case—based integrated units of
assessment questions carrying 4 marks each. Internal choice is provided in
2 marks question in each case study.

There is no overall choice. However, an internal choice has been provided in 2
questions in Section B, 2 questions in Section C, 2 questions in Section D and 3
questions of 2 marks in Section E.

Draw neat figures wherever required. Take © = 22/7 wherever required if not
stated.

Use of calculators is NOT allowed.

SECTION - A 20x1 =20

Question Nos. 1 to 20 are multiple choice questions of 1 mark each.

The 20™ term of the A.P. : 1072, 65/2, 24/2,..... is : 1

(@) —-76+1042 (b) —6242 (¢) —-6642  (d) 8632

If secO — tanO = 2,then sec6 + tan0 is equal to : 1

1 1

a) = b) V2 ©) — d) 2

@ 5 (b) (c) 7 (d)

PQ and PR are tangents to the circle Q

of radius 3 cm and centre O. If

length of each tangent is 4 cm, then 0 p

perimeter of A OQP is : 1

(@) Scm (b) 12cm

(¢c) 9cm (d) 8cm R

The value of m for which lines 14x + my =20and —3x+ 2y =16 are

parallel, is : 1

3 7 28 3
@ - b -3 © -F @ -3
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10.

11.

12.

13.

T A.P. &1 481 9€ 5n— 6 2| Eh! AL 2 -

(a) -6 (b) 5n ) 5 d 6
forgati (2, -7) qe (-2, - 1) F A FI g 7
(a) 10 (b) 213 c) 8 d 413

I o g T 210° T HIV HARG FH ATl =19 h A= 4—34cm%|§?rﬁ
ﬁm%:
1

(a) 2J2cm  (b) 4cm (c) 8cm (d) 7 em

52 i ATel =8 YRR ¥ W WA awi H TS H ¥ TH g Agesdl
Frerta | ot TReRdn TR feel T T W 2ifRa T 9’ R, ®

(@) o 0 = © = @ 15

A ABC # PQ || BC ®1 feam w2

f% AP=2.4 cm, PB =3.6 cm deT A

BC = 5.4 cm 81 PQ & &wlT 2 p/\Q

(a) 2.7cm (b) 1.8cm

(¢) 3.6cm (d) 2.16 cm B C

PA @1 PB , % O a1t ga W @it

A
Tt g w9ef W g g ZLAOB =105°
2d ZLOAP+ Z/APB S AN ? : 0 P
(a) 75° (b) 175°
(c) 180° (d) 165° 5

@ YTET b1 Ueh |1 Thehl 1T 2| hH O A Ueh U 9T 6 M <hl ITTIehdl 2 :
@ 1 ® =  © i @ =
7 cm AER BT a1 F A1 Tk YER &FTRA 550 cm” Bl WF hl ol
IAE R

(@) 25cm (b) 14cm (c) 20cm (d) 24cm

ﬂﬁtanA=%%,?ﬁsinA?ﬂﬂﬂ%:
2 1 1

(a) NG (b) NG} (©) NG (d) 1
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5. Ifn™term of an A.P. is 5n — 6, then its common difference is : 1

(a) -6 (b) 5nm (c) 5 (d 6

6. The distance between the points (2, —7) and (-2, —1) is : 1
(a) 10 (b) 213 c) 8 @ 413

7.  The length of arc subtending an angle of 210° at the centre of the circle, is
% cm. The radius of the circle is : 1
(a) 242 cm (b) 4cm (c) 8cm (d) % cm

8. A card is drawn at random from a well shuffled deck of 52 playing cards.
The probability that drawn card shows number 9’ is : 1

1 4 1 1

@ ¢ b) 3 © =5 @ 3

9. In A ABC, PQ || BC. It is given that A
AP = 24 cm, PB = 3.6 cm and P /\Q
BC=5.4cm. PQisequal to: 1
(@) 2.7cm (b) 1.8cm B C

(c) 3.6cm (d) 2.16 cm

10. PA and PB are tangents to a circle

A
with centre O. If ZAOB=105°
then ZOAP + ZAPBis equal to : ) P 1
(a) 75° (b) 175°
(c) 180° (d) 165° B
11. Two dice are rolled together. The probability that at least one of them
shows a six, is : 1
12 5 11 6
@ 3¢ b) 3¢ © 3¢ d) 3¢
12. The curved surface area of a cone with base radius 7 cm, is 550 cm?. The
slant height of the cone is : 1
(a) 25cm (b) 14cm (c) 20cm (d) 24 cm
13. Iftan A= %, then sin A is equal to : 1
2 1 1
a) — b) — c) — d 1
(a) NG (b) NG (c) NG (d)
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14. =fe \/Esinezl %, @l cotO x cosecO T 3

1 L 1
@ 7 ® = © 2 @ 5
15. o foaepi &1 T Ty IV @1 71 gEh iekar foh fak ww foeren
92 (T) auid, &
(@ 2 0 2 © 1 @ 1
16. & Wit TG F g p(x) F T H AE y
fora T 21 59 Sigug % i Sl S we 1§ <Pt)
(@ 0 x 0 o
b)) 1
() 2 Y
(d) T
17. |HM ST aTcl & Aod i o sl SaTgdl ol 31T 1:2 2| $1eh! st
T I 7
(a) ~2:1 (b) 1:2 (c) 1:4 @ 1:42
18. FEIE 2x2 + 5x+1 % EH o7 B Fl &+%} HAME 2 -
@ -2 (b) 5 © 2 @ -5

e :

9T TEAT 19 3R 20 ATUHAT T qeh oaTia U9 2| 81 s fou mu § e

Teh ! AU (A) AT T hY Tk (R) g1 eifeha foram mam 31 37 womt & weht

I et 84U T RTE (a), (b), (¢) 3R (d) # & IR AT -

(a) AfReA (A) 3 Tk (R) gHI T& & 3 Tk (R), Afwe (A) H &l
AT T 2

(b) AR (A) R T (R) GHT TEl §, Wg @k (R), AMHRAT (A) hiT T
S| T R 2l

(c) AMH (A) T B, Wg T (R) T 2|

(d) AR (A) Tad B, T @ (R) T& 2|

19. stfirwer (A) : 92 T2 E % afed g oht Iiiieran P(E)=ﬁ%,

@ P(E)=0.001 2l
T (R) : P(E) + P(E) =1

=
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14. If \2sin0 = 1, then cot@ x cosecOis equal to :
1 1 1
Q) —— b) —— ¢) V2 d =
(a) (b) N5 (c) d 3

15. Three coins are tossed together. The probability that only one coin shows

tail, 1s :
1 3 7
@ - ®) 3 © % @ 1
16. In the given figure, graph of p(x) is shown. %
Number of distinct zeroes of p(x) is : <p(x)
(@ 0 < > X
(b) 1 v 0
(© 2 -
(d) many

17. Two right circular cylinders of equal volumes have their heights in the
ratio 1:2. The ratio of their radii is :

(a) 2:1 (b) 1:2 c) 1:4 @ 1:42
18. o, B are zeroes of the polynomial 2x? + 5x + 1. The value of (é + %) is:
(@ —> (b) 5 © > @ -5
4 4
Directions :

Question numbers 19 and 20 are Assertion and Reason based questions.
Two statements are given, one labelled as Assertion (A) and the other is
labelled as Reason (R). Select the correct answer to these questions from the
codes (a), (b), (c) and (d) as given below :

(a) Both, Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(b) Both, Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.

1

19. Assertion (A) : IfE is an event such that P(E) = 999"

then P(E ) = 0.001.
Reason (R): P(E)+P(E)=1

430/42 A 7|Page 28 P.TO.



20. FfRAT (A) : T hen e 7 forifat & wewes ik 16 81 3@ g
2 oTefi hefT & g 16 W Bl
& (R) : H1earsh PR TR 61 g1 SRIeR Wi | e 2|
T uE - @
9 GEAT 21 | 25 Tk AT G-I a1l 97 &, e ok 2 sih w1 2 |

21. @1 Sffa BA @91 CD 99 & aT&
forg P SR e #1 g ﬂ
I APDA ~ APBC P AvB

22. (A) fag iR fr foreft amar fog @ foreft 39w il 8 oot Taneti & o=
T 0T TR oGl I AW aTc [WEE §RI g W SAANG hi0T H

Y BT 2l
srra
B) fag A 5 5t gm0 & FoFefht = &’ W = © oot e
=R Bl Bl

23. fogall A(2, 5) A€ B(-5, —2) &l Sied adt W@ws &l fomg P(-1, m) forE
3TUTd ¥ faTia shear 27 o1a: m 1 AF [a AR

24. A Tor Toreft wmeha T & ford T 45" o7 0 W THT @l @l "eRd ]|
3G AT &A1 ‘o’ 1 AF Farsd 98 45" & o0 6 T PHSA, 37 0 |

HuTH 2|
25. (A) TF fuaF H g § Ruw ™ R 8y § 3m
ATl ®Y Y TR S 21 @bt F21 ek @ Q 5y m
for 98 foah1 0.7 m Frsen aret 99 ® fom?

AT
(B) T U I & I Yokl TAT| 3G AT WTRIehal & o6 (1) & 9o T

& s =T 3T 3 21| (i) 31 ITed TS 1 AT 8 2|
@ug - T
Y TEAT 26 W 31 Tk AY-IW AT T &, RH T4 3 ik 12 |
26. (A) 3R f9g A(- 5, y), B2, — 2), C(8, 4) @1 D(x, 5) Th THI aqHS
ABCD & 3§ gt 0 @ &, af x 3R y &1 AF J1a HIioR | 30 au=R
IqY <t Tl i Tl T i
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20. Assertion (A) : Median marks of students in a class test is 16. It means
half of the class got marks less than 16.

Reason (R):  Median divides the distribution in two equal parts. 1
SECTION - B
Question Nos. 21 to 25 are very short answer questions of 2 marks each.
C

21. Two chords BA and CD intersect
D
at point P outside the circle. Prove

that APDA ~ APBC . __/ B 2
22. (A) Prove that the angle between the two tangents drawn from an external
point to a circle is supplementary to the angle subtended by the line
segment joining the points of contact at the centre. 2
OR
(B) Prove that the tangents drawn at the ends of a diameter of a circle are

parallel. 2

23. Find the ratio in which point P (-1, m) divides the line segment joining the
points A(2, 5) and B(-5, —2). Hence, find the value of m. 2

24. Show that 45" can not end with the digit 0, » being a natural number. Write
the prime number ‘a’ which on multiplying with 45" makes the product end

with the digit 0. 2
25. (A) A coin is dropped at random on the 3m
rectangular region shown in the figure.
What is the probability that it will land Q 2m
inside the circle with radius 0.7 m ? 2
OR

(B) A die is thrown twice. What is the probability that (i) difference
between two numbers obtained is 3 ? (ii) sum of the numbers obtained
is8? 2
SECTION - C
Question Nos. 26 to 31 are short answer questions of 3 marks each.
26. (A) Ifpoints A(—5,y), B(2,-2), C(8, 4) and D(x, 5) taken in order, form a
parallelogram ABCD, then find the values of x and y. Hence, find
lengths of sides of the parallelogram. 3

430/42 A 9|Page 28 P.TO.



3AUAT
(B) o5 A(6, - 3), B(0, 5) @ C(— 2, 1) AABC & 3N foig 21 foig P(3, 1)
aur fomg Q(2, — 1) AN ¥ AB a1 AC W feud 21 S ISR 6
AP ARy
PB  QC
27. 10 cm B At I 1 T a1 9 % g O
T 60° T =hHIVT AN ! 2| DHRATThd 9T

SR 1A hiTor |
(V3 =1.73,v2 =1.41 @ = = 3.14 SRA)

28. fog il for ot g0 & uford auTat sgds au=rqys g 2|

29. (A) TERWR 2oft 7, 10%,14, ..... 84 =1 AN TG hif |
3AAAT

(B) AfZ Rell A.P. % 9o n Y& %1 AW Sn:§(2n+8)§?ﬁ3¥lﬁmﬂmqa

AT WA= T hITSRI | $Heh UL 1591 UG H1d hiford |

30. EUG p(x)=4x? —4x—3 % A (@ HISR qAT 3k UM T IhI o
o= & "y i Goadr it S Hife|

31. fig Ffe i /5 wh smfe g )
g - ¥
9T HEAT 32 | 35 A G-I 9T U9 §, o uedew 5 im w2 |
32. (A) 3R forel Fovfst =1 T Yo o WHT=R 31 & YNl ol e -fore fegat @
yfiesg F % ot @ ©i=h 9@ @ fag A 3 o= 9 el

T & U | faanfra 2wt ¥
AT
(B) AABC il Y13l AB @1 AC W uST: foeg P a2 Q 390 Wb feora 2 fof

PQ || BC 2| &g hifsa for mfessmt AD S T forg A @ o1 BC W @if=ht
T 7, TErEg PQ i gafgwiiad sl 2l
33. g ad § 70 m S AR & R ¥ @ W gl e % ATHA
I 30° 3T 45° &1 A TAEER[A + TH & AR Th FeS g Je o 3l
19 &, @ & Jel & se A gl 7 AR (V3= 1.73 <)
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OR
(B) A(6, —3), B(0, 5) and C(— 2, 1) are vertices of AABC. Points P(3, 1)
and Q(2, — 1) lie on sides AB and AC respectively. Check whether
AP _ AQ
PB QC°
27. A chord of a circle of radius 10 cm

subtends an angle of 60° at the centre O.
Find the area of the shaded region.

(Use \/3 =1.73,+/2 =1.41 and n = 3.14)

28. Prove that the parallelogram circumscribing a circle is a rhombus. 3

29. (A) Find the sum ofthe A.P. 7, lOl, 14, ..... 84. 3

OR
(B) If the sum of first » terms of an A.P. is given by S, =§(2n+8).

Then, find its first term and common difference. Hence, find its 150
term. 3

30. Find the zeroes of the polynomial p(x)=4x?>—-4x-3 and verify the

relationship between zeroes and its coefficients. 3

31. Prove that \/g is an irrational number. 3

SECTION -D
Question Nos. 32 to 35 are long answer questions of 5 marks each.

32. (A) Ifaline is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points then prove that the other two sides are
divided in the same ratio. 5
OR
(B) Ina A ABC, P and Q are points on AB and AC respectively such that
PQ || BC. Prove that the median AD, drawn from A to BC, bisects PQ. 5

33. As observed from the top of a 70 m high lighthouse from the sea level, the
angles of depression of two ships are 30° and 45°. If one ship is exactly
behind the other on the same sides of the lighthouse, find the distance

between the two ships. (Use V3= 1.73) 5

430/42 A 11|Page 28 P.TO.



34. (A) T mn g 6 pia? + (p> —¢*)x—q* = 0;(p % 0)
(i) sy T IRk TR 1 fafaadet (D) Tk qof =t 2|
(i) iR & g T1a I | 5

3UdT
(B) T SRATTA HTcH qUTTsh 38 YR & foh Te™ SIS qUiish o1 a7 T STehI

TH % TR 1 AT 67 71 fguma e i dgEar 9 = quis w1

I 5
35. 9 Sisi &1 WieAS qU1 SgAh [ ehier 5
el 100-105 [ 105-110 [ 110-115 [ 115-120 [ 120-125 | 125-130
TRARAT 6 8 10 4 9 3
@ue - ¢

U9 TEAT 36 A 38 ek THIUT SATLUTRA T97 2, o Ties 4 sfer w1 2 |

36. WM dA1 IGH A qd @ [k C
‘iﬁ'@@@?@iﬁﬂﬁ@%lﬁq 60°
% A T AEWH I K @Iy
frge i RfRaa fomm|
T8 7@ TR o fop Wm e
&9 ABC & fFm-fFR ar =
TR a1 96 Y1 AF, FE aen N
BE % Rriit-ReR AR e “NJ
M@ H FFYEER el IR v
frfaRaa et & 3@ @R
(N2 =1.41am /3 =1.73 <hfs3)

(i) Y BC i I8 F1d i | 1

(i) 9 AG & T=IE 1 il 1

(iii) (a) TS ABC @1 ufwm ma il | 2
3AAAT

(iii) (b) (AF+ FE + EB) &l @I 91d hifs| 2

AF =53.58m
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34. (A) Itis given that p?>x?> +(p?> —¢*)x—q> =0; (p % 0)

(1) Show that the discriminant (D) of above equation is a perfect
square.
(i) Find the roots of the equation.

OR

(B) Three consecutive positive integers are such that the sum of the square
of smallest and product of other two is 67. Find the numbers, using

quadratic equation.

35. Find ‘median’ and ‘mode’ of the following data :

Class

100-105

105-110

110-115

115-120

120-125

125-130

Frequency

6

8

10

4

9

3

SECTION - E

Question Nos. 36 to 38 are case-based questions of 4 marks each.

36. Rahim and Nadeem are two

friends whose plots are
adjacent to each other. Rahim’s
son made a drawing of the plots
with necessary details.

It is decided that Rahim will
fence the triangular plot ABC

and Nadeem will fence along

C

[]

Bln|
1<

<——40m——

BH =40m

the sides AF, FE and BE. gg - 41;8:2
Observe the diagram carefully g’g _ 5322
and answer the following F AF = 53.58m
questions :
(Use ~/2 =1.41 and /3 = 1.73)
(1) Find length BC.
(11) Find length AG.
(111) (a) Calculate perimeter of AABC.
OR
(ii1) (b) Calculate length of (AF + FE + EB).
430/42 A 13|Page %8 P.T.O.



37. WG % 9a (Ball Pool) § Wl =i & ford
HARSH 1 1T T9F gl el 4 310 o=l h
R 9@ % W& & T 7 cm =@ et 600 Tig
T{ET | 600 TG W@ ATt B9 TR o [Sasl

foumd 42 cm x 91 cm x 50 cm (I % b x h) Bl Aad~ap S8 4

(i) T Tig =l G TTd hiT)

(i) 10 TGl =1 =HeRICT TN & T ToRAT| A I8 1 &9%a 1A shitag|

(il) (a) Tesu T Iuctey fieh TAM 1 AT T IR

el

(iii) (b) TGl I TEH FEc ddE W G W g3 99 €9 ° Wi T § S
fesd & @ MUR & A ok AN Bl (A) Th T gRI SR
(covered) & T &A% fHehiferd| (B) Tad et adqg W fohat
e e

38. T ATRHITRIH IO 7T UTehi o ford

2l ASHETE — ASHT A qUT AT B ATt 2 |

AT FiSTSAT ol IRaeh THIROT R ||

ka1 2| AR ¢ Wlie ™ wwy (fime #) =

quT <C’ 3Tkl FHd gurar 71 e e

TFERH 7

AT A 1 3C = 20¢

ASATB : 3C =107+ 300

IUIh T o YR R Ffafaa gt & 3w &

(i) Afe 319 AT B oid & a1 Ao fepal strfires Tftt o anft ?

(i) =& 7 A A @E | 38 T 250 H foha firme wlig ?

(iii) (a) Toraa e Wl W, ST ASHISAT & I8d, T9 URT ot grft? =98

T3 fepat gnft ?
T
(i) (b) HH-H FIHT TR 7, IE AT 60 e TigT =med &7 JhaTa
I G|
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37. Playing in a ball pool is good
entertainment for kids. Suhana bought
600 new balls of diameter 7 cm to fill
in the pool for her kids. The cuboidal
box containing 600 balls has dimensions
42 cm X 91 cm % 50 cm (I X b xh).

Based on above information, answer the

following questions : |
(i) Find the volume of one ball.

(11) 10 balls are painted with neon colours. Determine the area of painted
surface.

(111) (a) Find the volume of empty space in the box.
OR
(ii1)) (b) The lowermost layer of the balls covers the base of the box edge
to edge when balls are placed evenly adjacent to each other.
(A) How much area is covered by one ball? (B) How many balls
are there in lowermost layer?
38. A telecommunication company came up
with two plans— plan A and plan B for its
customers.
The plans are represented by linear
equations where ‘¢’ represents the time (in

minutes) bought and ‘C’ represents the

cost. The equations are :

Plan A : 3C=20¢

Plan B : 3C =107+ 300

Based on above information, answer the following questions :

(1) If you purchase plan B, how much initial amount you have to

pay ?

(i) Charu purchased plan A. How many minutes she bought for ¥ 250 ?

(ii1)) (a) At how many minutes, do both the plans charge the same
amount? What is that amount?

OR

(ii1)) (b) Which plan is better if you want to buy 60 minutes? Give reason

for your answer.
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